D-277 Dental Physiology Quiz 5.

Monday, June 14, 2010
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(0.5 pts. for each correct answer)

Instructions: Select the best choice.  

____________________________________________________________________________
1. Which of the following choices can be attributed to a non-functional myenteric plexus (the ENS) and/or the efferent  vagus nerve  ?

a. *Dysphagia (difficulty in swallowing)
b. The appearance of receptive relaxation.
c. The primary wave of peristalsis.
d. Relaxation (inhibition) of the LES.
e. Choices b, c and d are correct, choice a is incorrect.

2. The mechanism or mechanisms responsible for absorption of NaCl and H2O absorption and HCO3- secretion are found in which region of the bowel ?
a. *Colon only.

b. *Duodenum only.

c. *Ileum only.
d. *Jejunum only.
e. *Jejunum, ileum & colon.

3. Which one of the following statements regarding gastric secretion is correct ?
a. D cells are stimulated by the efferent vagus.
b. During the interdigestive period, gastric pH raises to levels above 7.15.
c. *The  gastrin secreting G cells of the antrum can be directly inhibited by H+ if antral pH falls to 2.0 or below.
d. Gastric secretion is inhibited if the GTP binding proteins Gαq or Gαs are stimulated by somatostatin.
e. The pH of the post prandial plasma tends toward the acid range (pH below 7.4).
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4. There are obviously many differences between adult males and females.  These differences include:
a.
The presence of testosterone, which is only found in males.

b.
The presence of estradiole (estrogen), which is only found in females.

c.
The presence of FSH, which is only found in females.

d.
*The rapid cessation of estrogen & testosterone secretion between ages 40-50 years that is only seen in females.

5. A patient of yours appears fidgety, is sweating profusely (your office temperature is only 65o F), has a rapid heart beat and is quite thin.  The eyes appear normal.  You suspect that the patient:
a.
Has exophthalmos.

b.
Is hypoparathyroid.

c.
*Probably has Grave’s disease.

d.
Probably has slow onset myxedema.

6. In examining the clinical report of a patient who has all of the signs and symptoms of glucocorticoid excess, you conclude that the patient has Cushing’s disease and NOT Cushing’s syndrome.  What is the physiological basis supporting of your differential diagnosis ?
a. Lower than normal  [ACTH]plasma.

b. A “moon face” & buffalo hump.

c. Poor wound healing.

d. *Higher than normal [ACTH]plasma.

